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Integers

In class VI, we read about inte

gers and various operations on . i
AR R o ey P them. We shall review them here

ies satisfied by various operations on them.
Various Types of Numbers

Natural numbers Counting numbers are called natural numbers.
Thus, 1. 2, 3, 4, 5, 6, ..., etc., are all natural numbers.

Whole numbers All natural numbers together with O (zero) are called whole numbers.
Thus, 0. 1, 2, 3, 4, ..., etc., are whole numbers.

Clearly, every natural number is a whole number but 0 is a whole number which is
not a natural number.

Integers All natural numbers, 0 and negatives of counting numbers are called integers.
Thus, ..., -4,=3,=2,-1.0,1;2, 3, 4,:.+; etc.; are:all integers:
(i) Positive integers: 1, 2, 3, 4, 5, ..., etc., are all positive integers.
(ii) Negative integers: -1, -2, -3, -4, ..., etc., are all negative integers.
(iii) Zero is an integer which is neither positive nor negative.

ADDITION OF INTEGERS

Rule 1. If two positive or two negative integers are added, we add their values regardless
of their signs and give the sum their common sign.
EXAMPLE1.  Add: (i) 36 and 27 (ii) -31 and -25
Solution We have:
(i) +36 (i) -31
+27 -25
63 =56

(i) 36 +27 =63.
(ii) (-81) +(-25) = -56.

Rule 2. To add a positive and a negative integer, we find the difference between their
numerical values regardless of their signs and give the sign of the integer with the

greater value to it.
REMARK In order to add two integers of unlike signs, we see which is more and by how much.

EXAMPLE2. Add: (i) -47+18 (ii) (-29) + 52
1
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Integers

SUBTRACTION OF INTEGERS

For any integers a and b, we define:

1) a - b = a + (additive inverse of b) = a + (- b).
(i) @ —(~b) = a + |additive inverse of ( b)l=a+b.

SUMMARY

)a-b=a+(-b)
(fi)a-(-b)=a+h

EXAMPLE1.  Subtract:
(i) 9 from 4 (ii) -8 from 5 (iit) 7 from (-6) (iv) -9 from -5

Solution We have:
(i) 4-9=4+(-9)=-5.
(ii) 5-(-8)=5+8=13.
(iii) (-6)-7 =(-6)+(-7) =-13.
(iv) -5-(-9)=(-5)+9=4.

EXAMPLE2.  Write:
(i) a pair of integers whose sum is —8;
(ii) a pair of integers whose difference is —12;
(iii) a pair of integers whose sum is O;
(iv) a negative integer and a positive integer whose sum is —6;
(v) a negative integer and a positive integer whose difference is —4.

Solution Clearly, we have:
(i) (-3)+(-5)=-8.
(ii) (-15)-(-3) =(-15)+3 =-12.

(iii) 8 +(-8) =0.
(iv) (-8)+2 =(-6).
(v) (-1)-3=-4.

PROPERTIES OF SUBTRACTION OF INTEGERS

l. Closure Property for Subtraction: If a and b are any two integers, then (a-b) is always
an integer.

EXAMPLES (i) 2 -5 =2 +(-5) = -3, which is an integer.
(ii) (-2) -6 = (-2) +(-6) = — 8, which is an integer.
(iif) 3 -(-5) =3 +5 = 8, which is an integer.
(iv) -4 - (-6) = -4 + 6 = 2, which is an integer.

II. Subtraction of Integers is Not Commutative.

EXAMPLES (i) Consider the integers 3 and 5. We have:

(8-5)=3+(-5)=-2 and (5-3)=5+(-3)=2.
(3-5)#(5-3).

(ii) Consider the integers (-4) and 2. We have:
(-4)-2=(-4)+(-2)=-6 and 2-(-4)=(2+4)=6.
(-4)=2 #2 - (-4).

(iii) Consider the integers (-6) and (-4). We have:
(-6)-(-4)=(-6)+4=-2 and (-4)-(-6)=(-4)+6 =2.
(=6) - (-4) # (-4) - (-6).
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ive. \
Ill. Subtraction of Integers is Not Associat

3, (-4) and (-5). We have:

S5 Con?:isdf:jf}lf(tfgr: (8+4)-(-5)=7~(=5) = (7+5) =19, g

And, 3-{(-4)-(-5)} =3 -{(-4)+5}=(3-1)=2,
(3-(~4)} - (-B) # 8 = {(~4) - (-5)}.

(vi
EXAMPLE3.  Write a pair of integers whose difference gives N
(1) zero;
ii) a negative integer; . |
(gtt; an tr?teger smaller than both the integers; 7759
(v) an integer greater than both the integers; (
(v) an integer greater than only one of the integers,

(i
5 &
Solution (i) Consider the integers 5 and 5. (&
Clearly, (5 -5) = 0. (
(i) Consider the integers 4 and 6. Then, (v
(4 -6) =4+(-6) = -2, which is a negative integer. (vi
i -6) and 4. Then (vii
(iii) Consider the integers (- 6) an ) .

(=6) -4 = (-6) +(-4) = -10. .
Thus, we get an integer smaller than both the integers. 9. Fi
(iv) Consider the integers 5 and (-3), Then, 10. If,
5-(-3)=(5+3)=8. 1. i,

Thus, we get an integer greater than both the integers. :
(v) Consider the integers (-5) and (-2). Then, 12. Th
(-5)-(-2)=(-5)+2 =3, 13. Th
Clearly, -3 > —5 but -3 is not greater than -2, 14. Th
EXAMPLE4.  The sum of two integers is —11. If one of them is 9, find the other. 15. Wr
Solution Let the other integer be a. Then, (i
9Fa=-11"% a=(—11)—9=(—11)+(—9)=—20. , (ii
Hence, the other integer is —20. (it
(iv
EXAMPLES, The difference of an integer a and (-5) is -3. Find the value of a. (v
Solution We have: Hin
a-(-5)=-3 = a+5 =(-3) 16. For
= a=(—3)—5=(—3)+(—5)=—8. $}

Hence, q = -§g,
(i,
(iii]
(iv]
EXERCISE 1A (v)
1. Evaluate:
(1) 15 +(-8) (1) (-16)+9 (lif) (-7)+(-23)
V) (-32)+ 47 (V) 53 +(~26) (vi) (~48)+(~36)
2. Find the sum of:
) 153 and -302 (i1) 1005 and -277 (1) ~2035 and 297 Rule 1,
(iv) ~489 and -394 (v) ~1000 and 438 (vi) ~238 and 500
, 3. Find the additiye Inverse of. EXAMPLE 1,
§ (1) -83 ; (i) 256 (iii) 0 (iv) -2001
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i Subtract:
(i) 28 from —42 (i) -36 from 42 (ili) ~37 from -53
(1v) ~66 from ~34 lvi 818 from © (vi) ~153 from -240
(vii) —64 from O (viii) -56 from 144
um of ~1032 and 878 from - 34.

5. gubtract the S
6. Subtract -134
7. Fill in the blanks:

from the sum of 38 and -87.

(1) {(-—13)+27}+(-41) =(-13)+{27+(...... )}

(id) (—26)+{(—49)+(—83)}={(—26)+(—49)}+( ...... )
(iil) 53 +(-837)=(=37+(...... )

(iv) (~68) +(-76) = RIS ) +(~68)

W) (=72)+ (... .. )= =72

(vi) —(-83)=......
(vii) (-60)-(..... )=-59
i) (-3D+(.....) =-40

-40)}.

8. Simplify: {-13 - (-27)} +{-25 - (
Find 36 — (-64) and (-64) - 36. Are they equal?

9.
—7,c=6,verifythat(a+b)+c=a+(b+c).

10. fa=-8b=
11. fa=-9and b - -6, show that (a —b) #(b-a).
12.

13.

The sum of two integers is -16. If one of them is 53, find the other.

The sum of two integers is 65. If one of them is -31, find the other.

14. The difference of an integer a and (-6) is 4. Find the value of a.

15. Write a pair of integers whose sum gives

(i) zero;
(ii) a negative integer;
(iii) an integer smaller than both the integers;
(iv) an integer greater than both the integers;
(v) an integer smaller than only one of the integers.

Hint. (i) 6 and (-6)  (ii) 4 and (-9) (iii) (-3) and (- 5) (iv) 4 and 5 (v) 5 and (-3)

16. For each of the following statements, write (T) for true and (F) for false:

(i) The smallest integer is zero.
(ii) ~10 is greater than -7.
(iii) Zero is larger than every negative integer.
(iv) The sum of two negative integers is a negative integer.

(v) The sum of a negative integer and a positive integer is always a positive integer.

MULTIPLICATION OF INTEGERS

Rule 1,
x,lﬂnd the product of two integers with unlike signs, we find the pr oduct of thelr
1 ues regardless of their signs and give a minus sign to the product.

Flzt)i each of the following products: '
6x(-5) (1i) (-7)x 9 (iit) 35 x (-18) (tv) (-42)x 20
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Mathematics for Class 7

We have:
Solut
o (1) 6x(-5) = =30.

it) (~7)x9 = ~63. it .
((lll) 35x(~18) = ~(35%x18) = 630

= -840,
(iv) (- 42)x 20 = ~(42x20) 84

o fi p ign, we find the pr

Rule 2 nd the product of two integers with the same s

va eandlels‘gtof their signs and give a plus sign to the product,
lues reg

{ roducts:
EXAMPLE 2. H;t(t’i le;:’ll é’f thef(fi::'o(li’s';i{’_l 4) (iti) (~25) % (~19) () (<70)x (-3, )

OdUCt of the(

Solution We have:
(1) (12x16) =192.
(1) (~-8)x(~14) = (8x14) =112.
(iii) (-25)x(~19) = (25x19) = 475.
(iv) (=70)x(=31) =(70x31) =2170.

PROPERTIES OF MULTIPLICATION OF INTEGERS

1. Closure Property for Multiplication: The product of two integers is always an integer,

EXAMPLES (i) 7 x5 = 35, which is an integer.
(ii) (-8)x 4 = -32, which is an integer.
(iii) 9x(-6) = ~54, which is an integer.
(iv) (-8)x(-7) = 56, which is an integer.

II. Commutative Law for Multiplication: For any two integers a and b, we have-
(axb)=(bxa).
: EXAMPLES (i) 5x(—8)=—40and(—8)x5=—40.
5x(-8)=(-8)x5.
(i) (-9)x(~7) =63 and (=7)x(-9) = 63.
(=9)x(-7) = (-7)x (-9).
lll. Associative Law for Multiplication: For any integers a, b, ¢, we have:
(@axb)xec =ax(bxc).

| -5 and -8, We have:
{3x(-5)}x(—8) =(-15)x(-8) = 120
and 3 x {(-5) x (-8)} = (3 x 40) =120.
{8x(~5)}x (-8)=3 X{(-5)x (-8)}.
(i) Consider the integers (~8), (~6) and (-5), We have:
{(—S)X(-G)}X(-S) =48x(-5) = -240 -
?nd (—8l><{(—6)><(-5)} =(-8)%30 = -240,
{(—8)><(-6)}><(—5) = (-8)><{(-6)X(—5)}-
IV. Distributive Law of Multlpllcatlon over

EXAMPLES (i) Consider the integers 3,

Addition; For any integers a, b, ¢, we have:
ax(b+c)=(axb)+(axc).
EXAMPLES (1) Consider the integers 5, (-6) and (~8). We have:
YGRS s i o :
and{5><(-6)}+{ X(~14) = —70

SX(~8)} = (~30) +(~40) = -70
S5x{(-6) + (-8)} = {5« (=6)} + {5 x (-)8)}. :

Scanned with CamScanner



| oY

Integers 7

e A
(ii) Consider the integers (~5), (-7) and (~9). We have:

(=5)x{(=7)+(~9)} = (-5)x(~16) = 80
and {(=5)x(=7)} +{(-5)x(~9)} = (35 + 45) = 80.
(=5)x{(=7) + (=9} = {(=5) x (=7)} +{(-5) x (- 9)}.

V. Existence of Multiplicative Identity: For every integer a, we have: (ax1)=(] x a)=a.
1 is called the multiplicative identity for integers.

EAMPLES (1) (12x1) =12. (il) (-16)x1 = ~16.
vi. Existence of Multiplicative Inverse: Multiplicative inverse of a nonzero integer a is the number

poea)sla)
—asa:|—|=|— 'a=1.
a a a

EXAMPLES (i) Multiplicative inverse of 6 is % .

(ii) Multiplicative inverse of -6 is - % .

Vil Property of Zero:  For every integer a, we have :
(@x0)=(0xa)=0.

EXAMPLES (i) 8Xx0=0x8=0. (i) (-6)x0=0x(-6) = 0.
EXAMPLE3.  Simplify:
(i) 8x(-15)+8x6 (ii) (-18)x 7 +(-18) x (- 4)

(i) 15x(-32) +15x(-18)  (iv) 16X (-9)+(-8)x(-9)

Solution  Using the distributive laws, we get:
' (i) 8x(-15)+8x6 =8x{(-15)+6} [+ axb+axc =ax(b+c¢))
=8X%(-9)
=-72.
(i) (-18)X 7 +(~18) x (- 4) = (-18) x {7 + (- 4)}
* =(-18)x3
=-54,
(iii) 15x(~32) +15x (-18) = 15 x{(-32) +(-18)} [.
=15x%(~50)
=-750.
(iv) 16 X (-9) + (- 8) x (-9) ={16+(-8)}x(-9) |
=8x(-9)

[ axb+axc=ax(b+c)]

axb+axc=ax(b+c)

S axc+bxc=(a+b)xc]

 OEDX(-2)x(-3)x(-4)x (=5
* (11l) (~2) x (-2) x (~2) x .. i

81 (ii) (—3)X(—5)x(—2)x(—4)
: ¥ <R ines () (-2)x (-2) x (-2) x ...
- DEDXEDX-Dx...100 times (o) (1) (-1)::-1)) i got:munu
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given product is odd.

tive integers 10 the

Solutt (1) Number of nega

A petons: £ 5 B n(egsa)tive. (Ix2%3% 4x5)=-120.
~1)x(= ~3)x (~4)X(=9) ="
(=1)x(=2)%( e gifer Srodict s Sodhi

(i) Number of negative integers 1 ol
Therefore, their product is positive. B
(—3)><(—-5)x(—2)x(—4) - (3x5x2x4) =120.

tive integers in the given product is even.

(iti) Number of nega

Therefore, their product iS positiv s b
(—2)><(—2)><(—2)><...8tlmes=2 =256.
in the given product is odd.

tive integers
product is negative.
times = —2
n the given product is even.

(iv) Number of nega
Therefore, their

9 _——
(—2)X(—2)x(—2]>_<...9 =-512.

(v) Number of negative integers i
Therefore, their product is positive.
(D x (-1 x(-1)X 100 times = L.
(vi) Number of negative integers in the given pro
Therefore, their product iS negative.
(—1)x[-1)x(—1)>< ..301 times = -1.

he product if we multiply together 19

duct is odd.

EXAMPLES.  What will be the sign of t 9 negative and 10
positive integers?

Whatever may be the number of positive
the product.

Since 199 is odd and the product of od
the given product is negative.

Solution integers, it will not affect the sign of

d number of negative integers is negative, so

4 marks are given for every correct answer
incorrect answer. Ranjita attempts all
t. What is her total score?

EXAMPLE6.  In aclass test containing 20 questions,
and (-2) marks are given for every
questions and 12 of her answers are correc

Solution Marks given for 1 correct answer = 4,
Marks given for 12 correct answers = (4x12) = 48.
Marks given for 1 incorrect answer = 2.
Marks given for (20 —12), i.e., 8 incorrect answers = (-2)x 8 = -16.

Ranjita’s total score = 48 +(-16) =32.

EXAMPLET. A shopkeeper gains ¥ 1 on each pen and loses 40 paise on each pencil. He sells 45
pens and some pencils losing X 5 in all. How many pencils does he sell?

Solution Suppose he sells x pencils.
Total gain on pens = ¥ 45,
Total loss on pencils = ¥ $0x =% 2x
100 5
2x
5
e g5£=50 b x=(50><5)

2x
o s = (45 +5)

=125,

Hence, the number of pencils sold is 125

g
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EXAMPLES. A certain freezing process requires that room temperature be lowered Jrom 40° ¢
at the rate of 5°C per hour. What will be the room temperature 12 hours after the

process begins?

solution Temperature after n hours = (40 - 5n)°C,
+ temperature after 12 hours = (40 -5 x12)°C
= (40 -60)°C = -20°C,
Hence, the room temperature after 12 hours would be -20°C,
EXERCISE 1B
1. Multiply:
) 16by 9 (ii) 18 by -6 (i) 36 by <11 (iv) -28 by 14
(v) =53 by 18 (vi) -35by O (vii) O by -23 (vill) <16 by -12
{ix) -105 by -8 (x) -36 by -50 (xi) <28 by -1 (xii) 25 by ~11
2. Find each of the following products:
i) 3x4x(-5) (i) 2x(-5)x(-6) (iif) (-5)x (-8)x (-3)
(iv) (-6)x6x(-10) (v) 7x(-8)x3 (vi) (-7)x(-3)x 4
3. Find each of the following products:
M) (-4)x(-5)x(-8)x(-10) (1) (-6)x(=5)x(-7)x(-2)x(-3)
(i) (-60)x(-10)x(-5)x(-1) (iv) (-30)x(-20)x(-5)
v) (-3)x(-3)x(-3)x... 6 times (vi) (=5)x(-5)x(-5)x...5 times
(vii) (-1)x(-1)x(-1)x... 200 times (viii) (=1)x(-1)%x(-1)%...171 times
4. What will be the sign of the product, if we multiply 90 negative integers and 9 positive
integers?
5. What will be the sign of the product, if we multiply 103 negative integers and 65 positive
integers?
6. Simplify:
() (-8)x9+(-8)x7 (ii) 9% (-13)+9x(-7)
(i) 20%(-16)+20x14 (iv) (~16)x(~15)+(~16)x (=5)
v) (-11)x(-15) +(-11)x(-25) (vi) 10x(-12)+5x%x(-12)
(vii) (-16)x(-8)+(-4)x(-8) (viii) (—26)x 72 +(-26)x 28
7. Fill in the blanks:
) (-6)x(......) =6 () (-18)x(...... =(~18)
(iii) (-8)x(-9) =(-9)x(...... ) (iv) 7x(=3) =(=3)x(...... )
V) {(=5)x3}x(-6)=(......)x{3x(-6)}  (vi) (-5)x(...... )=0

8. In a class test containing 10 questions, 5 marks are awarded for every correct answer and
(=2)marks are awarded for every incorrect answer and O for each question not attempted.
(1) Ravi gets 4 correct and 6 incorrect answers. What is his score?
(i) Reenu gets 5 correct and 5 incorrect answers. What is her score?
(1) Heena gets 2 correct and 5 incorrect answers. What is her score?

8. Which of the following statements are true and which are false?

(1) The product of a positive and a negative integer is negative,
(1) The product of two negative integers is a negative integer.
(lii) The product of three negative integers is a negative integer.
(v) Every integer when multiplied with -1 gives its multiplicative inverse.
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utative.
(v) Multiplication on integers is comm

¢,
egers 18 associativ
(vi) Mulﬂpliczi::::)‘::tgge rghas a multiplicative inverse as an integer.
(vii) Every no

—

DIVISION OF INTEGERS

We know that division is an inverse process of multiplication.

er by the other, the two having unlike signs, we divide g,

int
Rule 1. For dividing one eghelr signs an d glve a minus sign to the quotient.

values regardless of t

S Ev(‘(l)h(‘fznm (i) 144 + (-16) (iit) (-69) + 23

Solution We have:
-48
() (-48)+12=—-=-4.

12
144
— = — —g.
(ii) 144 + (-16) (16)
(-69)
iii) (- =—=-3.
(iii) (-69) + 23 23
Rule 2. For dividing one integer by the other having like signs, we divide their values

regardless of their signs and give a plus sign to the quotient.

EXAMPLE2.  Ealuate: ‘
(i) 98 + 14 (ii) (-48) + (-16) (iii) (-90) = (-15)

Solution We have:

M og+14=2_7
14
-48
(u) — = =—=9.
(-48) + (~16) 7R
-90
(iii) (~90) + (-15) =—— = 6.
(-90)+(-15) = —= =6

EXAMPLE3. Evaluate:
(i) (-133)+19 (ii) 168 + (-14) (iii) (-336) + (—21)
Solution We have:

(1) (-183)+19 = 133 _ -
19

168
(1) 168 +(~14) = — = —
) 1 12.

(i1i) (-336) + (-21) = -37316 =16,

EXAMPLE4.  Fill in the blanis:

, (0037 (..: adimd : (1) (srisns) + 36 = =2
] ‘[ (i) (e )+69 =0 ) boils )+(~18) = -5
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m Clearly, (-37) + (-37) = 1.
Hence, the required number is (~37).

(ii) Let the required number be x. Then,

X
x+36=-2 = 3" 2
= x=36x(-2)=-72,
Hence, the required number is ~72.
(i) WhenOis divided by any nonzero number, then the quotient is 0 (see IV below)

0+69=0.
(iv) Let the required number be x. Then,

X
dBle-8 = ——=a
x+(~18) 18 5

= x=(~18)x(-5)=90.
Hence, the required number is 90.

Modulus of An Integer
The modulus of an integer a, denoted by |a|is defined as :
|

a, if a is positive or zero.
al=
lal —a, if a is negative. ‘

Thus, |6/ =6 and |-6|=-(-6)=6. |
Distance between the Two Points
Let A and B be two points at distances a and b respectively from the origin. Then, we define
AB=|a-bl. .
EAMPLES.  Anelevator descends into a mine shaft at the rate of 6 m/min. If the descent starts
from 20 m above the ground level, how long will it take to reach ~370 m ?
Solution  Let the point O denote the ground level. A
Then, OA =20 m and OB =-370 m. lo
AB =|0A -OB| =20 - (-370)| =20 +370| = 390 m.
distance covered = 390 m. x
Rate of descent = 6 m/min. Ly |

Tlmetaken=§2—omin=65mm= 1 hr 5 min.

PROPERTIES OF DIVISION OF INTEGERS
I If a and b are integers then (a + b) is not necessarily an integer.

EXAMPLES (i) 16 and 5 are both integers, but (16 + 5) is not an integer.
(if) (-9) and 4 are both integers, but {(-9) + 4} is not an integer. : |

- I Faisan integer and a #0, thena +a =1

- EXAMPLES (1) 16+16 =1. (i) (-8)+(-8)=1.
; !lL Ifa is an integer, then (a +1) = a.
‘«,m W 7+1=7 (i) (-6) +1=(-6).
"j V. Ifa is an integer and a # 0, then (0 +a) =0 but (a + 0) ts not meaningful.
(iil) 6+ O is meaningless. l

~ BXAWPLES (i) 0+ 6= 0. (i1) 0 +(~4) =0.
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then(a+b)+c¢a+(b+c),unlessc=1,

is not assoclatlve.
= -2, Then,

g =(-2)+(-2)=1.
2)=(—8)+(—2)=4.

V. If a, b, c are integers
Thus, division on integers

E dc

EXAMPLE Leta=-8b=4an
(a+b)+c={(—8)+4}+(2}
a+(b+C)=(—8)+{4~)~(~)
(a+b)+c#a+(b+C- L
.lfa='—8.b=4andc—, o it
How(ec;nz-rbhc={(—8)+4)}+1=(--2)-!-1 (-2)

ol = (-2).
a+(b+c]___(_8)+{4+l}-—( b8-)'-+c;1 (
So.lnthlscase,(a-!-b)+0=a+( '
n
VI. If a, b, ¢ are nonzero integers and a > b, the
(i) (a+c)>(b+0), if ¢ is positive.
(ii) (a+c)< (b+c), if ¢ is negative.
EXAMPLES (i) 27 > 18 and 9 is positive.
27 18
399
(ii) 27 > 18 and (-9) is negative.
27 18
-9 -9
EXERCISE 1C
1. Divide:
(i) 65 by-13 (ii) -84 by 12 (iii) =76 by 19 (iv) -132 by 12
(v) =150 by 25 (vi) -72 by -18 (vii) =105 by -21 (viii) -36 by -1
(ix) 0 by -31 (x) -63 by 63 (xi) -23 by -23 (xii) -8 by 1
2. Fill in the blanks:
72+ ) =4 (1) =36 +(......)=-4 (i) (......)+(~4) =24
T I s )+25=0 B e o )+ (-1) =36 (vIpY )+1=-37
(vii) 39 + (...... )=-1 (vidd) 1+(...... )=-1 (ix) =1+ (...... )=~1
3. Write (T) for true and (F) for false for each of the following statements:
(1) 0+(_4)=0 (il) (—6)+O=O (111) (_5)+(_1)=_5
(iv) (-8)+1=-8 W) (1l +(=1)}==1 i) (=9)+(=1)=9
S ettt
EXERCISE 1D
OBJECTIVE QUESTIONS
Mark (/) against t
e _(_asg) s he correct answer in each of the following:
(a) -2 b
2. -9-(-6)=?. (‘) 2 (c) 14 (d) none of these
(a) "15 (b .
o (c) 3 (d) none of these
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5, Byhow much does 2 exceed -3? NS
: {a) =1 (b) 1 (c) -5 d) 5
gint. Required number =2 - (-3).
4; Wwhat must be subtracted from -1 to get -67
(@ 5 (b) -5 (c) 7 (d) -7
m_l_x=_6 = x=-1+46.
5. How much less than -2 is -6?
(@ 4 (b) -4 (c) 8 (d) -8
Hint. Required number =(-2)~(-6).
6. On subtracting 4 from -4, we get
(a) 8 (b) -8 (c) O - (d) none of these
7. By how much does -3 exceed -57?
(a) =2 (b) 2 (c) 8 (d) -8
Hint. Required number = (-3) - (-5) =-3+5.
8. What must be subtracted from -3 to get -9?
(a) -6 (b) 12 (c) 6 (d) -12
9. On subtracting 6 from -5, we get
(a) 1 (b) 11 (c) -11 (d) none of these
10. On subtracting —13 from -8, we get
(a) 21 (b) 21 [€):D (d) -5
11. (-36)+(-9)="?
5 (a) 4 (b) -4 (c) none of these
12, 0+(-5)="?
(a) -5 (b) O (c) not defined
13. (-8)+0="?
(a) -8 (b) O (c) not defined
14. Which of the following is a true statement?
a8l -11> -8 (b) -11<-8 (c) 11 and -8 cannot be compared
15. The sum of two integers is 6. If one of them is -3, then the other is
(a) -9 (b) 9 (c) 3 (d) -3
16. The sum of two integers is —4. If one of them is 6, then the other is
(a) -10 (b) 10 (c) 2 (d) -2
17. The sum of two integers is 14. If one of them is -8, then the other is
(a) 22 (b) -22 (c) 6 (d) -6
18. The additive inverse of -6 is
(@) '16 (b) —% (c) 6 (d) 5
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19. (-15)x8+(—15)x2=? 00 -

(a) 150 (b) -150
20. (-12 x6=(-12)x4="?

: ) )24 (b) -24 (c) 120 (d) =120

(a
21. (-—27)><(-16)+(—27)x(—l4)=? G o

(a) -810 (b) 810 () -
22. 30x(-—23)+30><14=?

(a) -270 (b) 270 (c) 1110 (d) -1110
23. The sum of two integers is 93. If on€ of them is =59, the other one is

(c) 152 (d) -152

(a) 34 (b) -34

24. (?)+(-18)=-5

(c) none of these

(a) =90 (b) 90

I

Things to Remember

!

14.

15.
16.

The numbers ...,-4,-3,-2,-1,0,1,2,3,4,...,are integers.

. 0 is an integer which is neither positive nor negative.

0 is less than every positive integer and greater than every negative integer.

. If x and y are integers such that x >y then —-x< -y.

For example: 17 >13and -17<-13.
The absolute value of an integer is its numerical value regardless of its sign.

Thus, |-7|=7 and [7|=7. Also, |0|=0.
To add two integers with like signs, we add their numerical values and give the sign of the addends

to the sum.
Thus, (-8)+(-7)=-15and 8 +7 =15.

. To add two integers with unlike signs, we take the difference of their numerical values and give the

sign of the integer having the greater absolute value to the difference.
Thus, (-17)+9=-8and 17 +(-8) =9.

. For two integers a and b, we define a —b =a +(-b).
. To subtract an integer b from an integer a, we change the sign of b and add it to a.

10.
11.
12.
13.

All properties of operations on whole numbers are satisfied by these operations on integers.

If a and b are two integers then (a - b) is also an integer.

-a and a are negatives, or additive inverses of each other.

To find the product of two integers with like signs (i.e., both positives or both negatives), we multiply
thetr numerical values and give a plus sign to the product.

To find the product of two integers with unlike signs (i.e., one positive and one negative), We
multiply their numerical values and give a minus sign to the product.

The quotient of two negative or two positive integers is always positive.

The quotient of one positive and one negative integer is always negative.
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/ TEST PAPER-1

A. |, The sum of two integers is ~12.If one of them is 43, find the other,
9. The difference of an integer p and -8 is 3. Find the value of p,

S 3. Add the product of (-16) and (-9) to the quotient of (-132) by 6,
4. By what number should (-240) be divided to obtain 16?

. What should be divided by (-7) to obtain 12?

6.

Evaluate:
(i) (-6)x(~15)x(-5) (i) (-8)x(-5)x 9
(iii) 9x(-12)x10 (lv) (-75)x 8

W) (B)x(-5) x (=5) ...... taken 5 times  (vi) (1) x (1) x (~1)x ...... taken 25 times
7. Evaluate:

(i) (-16)x12 +(-16)x8 (i1) 25 x(-33) +25x (~17)
(ii1) (~19)x(-25) +(-19) x(~15) (iv) (-47)x 68 - (-47) x 38
(v) (-105) +21 (vi) (-168)+(-14)
(vi) 0 +(-34) (viii) 37 +0

B. Mark () against the correct answer in each of the following:
8. The sum of two integers is 6. If one of them is 2, then the other is

(a) 4 (b) 4 (c) 8 (d) -8
9. What must be subtracted from -7 to obtain —-15?
(a) -8 (b) 8 (c) —22 (d) 22
10. (?)+(-18)=-6
(a) —108 (b) 108 () 3 (d) none of these
11. (37 x(-7)+(-37)x(-3) ="
(a) 370 (b) =370 (c) 148 (d) -148
12, (-25)x8+(-25)x2 ="
(a) 250 (b) 150 (c) -250 (d) -150
13. ((9)-(-6)="?
(a) -15 (b) -3 (c) 3 (d) 15
14. How much less than -2 is -87
(a) 6 (b) -6 (c) 10 (d) -10
C. 15. Fill in the blanks.
(i) (-35)x...=35 (i) (-53)x(...) =-53
0o (1) (-14) x(...)=(-16)x (-14) (iv) (-21)x(...)=0
) (-119)+17 =(...) (vi) (-247)+(...)=13
(vii) (...)+31=0 (viii) (...)+(-19) =-8
D. 16. Write ‘T’ for true and ‘F’ for false for each of the following:
- (1) 0+(-16)=0 (i) (-8)+0=0
(iil) -1+ (-1) =-1 (iv) (-36)+ (-1) =36
(v) (-52)+13 = -4 (vi) 68 + (-17) =4
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d subtraction of fractions, etc. We shaj
addition an on and division of fractions.

Eview

In class VI, we read about fractions,
these concepts in this chapter and take up multiplicat

a
Fractions  The numbers of the form B’ where a and b are natural numbers, are known as

JSractions.
In 2' we call a as numerator and b as denominator.

EXAMPLES (i) gis a fraction in which numerator = 3 and denominator = 5.

(ii) E is a fraction in which numerator = 17 and denominator = 6.
6
(iii) ? is a fraction in which numerator = 8 and denominator = 1.

VARIOUS TYPES OF FRACTIONS

() Decimal fraction: A fraction whose denominator is any of the numbers 10, 100, 1000, etc.,
is called a decimal fraction.

27
EXAMPLES FEach of the fractions —3— — i etc., is a decimal fraction.

10°100 ' 1000°

(i) Vulgar fraction: A fraction whose denominator is a whole number, other than 10,100,
1000, etc., is called a vulgar fraction.

2.4 13 27
BampLes = = -2 <L o0
9'13°20° 109 etc., are all vulgar fractions.

(iii) Proper fraction: A fraction whose numerator is 1
proper fraction.

Exawpes o 5 23 73

7'11' 40’ 100’ etc., are all proper fractions,

ess than its denominator, is called a

(iv) Improper fraction: A Jraction whose numerator is more than or equal to its denominatof
is called an improper Jfraction,

11 25 41 53
EXAMPLES — — - 29
7'12" 38’ 53.etc.. are all improper fractions,

16
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17
fraction: A number which can be expressed as the sum of a natural number and o

W) M proper fraction, is called a mixed fraction.
et 12 —, etc., are all mixed fractions.
guwniss 15 47 7151235
nvert each of the following into an improper Sraction:
E - ' = (1) 7> (w122
jgas. W 13 25
solution We have:
0 13 SARAERD LV
ol 4
5 x7+5 33
(ii) 4; . E
9 7x13+9 100
RS TYENE 13
9 6 12x25+6 ¥ 306
e T 25
exawpLE2.  Convert each of the {;llowing into 1a8g1ixed fraction:
38
— == )=t
® - (it) 15 (iii) T =
Solution (i) On dividing 38 by 7, we get quotient = 5 and remainder = 3. 71%%(5
sBii 3 =
=5 —.
ré 7 e
(ii) On dividing 47 by 15, we get quotient = 3 and remainder = 2. 15_):;(3
N =5
16 15 S
(iii) On dividing 189 by 16, we get quotient = 11 and remainder = 13. 16)11%9(11
THeheAT S _16
13

An Important Property If the numerator and the denominator of a fraction are both multiplied by
the same nonzero number, then its value is not changed

Thus, §_3x2 3x3 3><4 T

4 4x2 4x3 4x4’

(vi) Equivalent fractions: A given fraction and the fraction obtained by multiplying (or

dividing) its numerator and denominator by the same nonzero number, are called
equivalent fractions.

3 6 9 12
Thus, —

4'8°12°16’ , etc., are all equivalent fractions.

(vil) Like fractions: Fractions having the same denominator but different numerators are
called like fractions.

5 9 11
EXAMPLES 1 12’ 1’ etc., are like fractions.

0’"“’ Unlike fractions: Fractions having different denominators are called unlike fractions.

5 7 1 3. etc., are unlike fractions.
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METHOD OF CHANGING UNLIKE FRACTIONS TO LIKE FRACTIONS
Step 1. Find the LCM of the denominators of all the given fractions.
into an equivalent fraction
Step 2. hange each of the given fractions i
: genorsrlttnator eqd{zl to the LCM of the denominators of the given Jractiong ng

g 7.
XA -, —, — Into ltke fractions.
EXAMPLES.  Convert the fractions 6'9'12

Solution LCM of 6,9,12 =(83x2x3x2) =
D BB L8007 ~fxg . 28 L 3 a3 3
g 0 ~36
‘6 6><6 36'9 9x4 36 12 12x3
30 28 33

Clearly, — 36' 36 36 =g are like fractions.

(X) Irreducible fractions: A Jraction % is said to be irreducible or in lowest terms, {f HeF of

aandb is 1.
a :
If HCF of a and b is other than 1 then 5 is said to be reducible.

EXAMPLE4.  Convert g—; into irreducible form.

Solution First we find the HCF of 84 and 98.
Clearly, HCF of 84 and 98 is 14.

So, we divide the numerator and denominator of the given 84)&?8(1
fraction by 14. -84
84 84+14 0

84 14)84(6
98 98+:14 7 -84

X
Hence, g—g- in irreducible form is g - iy

COMPARING FRACTIONS

Let % and 2 be two given fractions. Then,

a ¢ itie
(1)B>E@ad>bc [H)E=E@ad=bc (iii) & ad < be.

Q.10

a1
b
EXAMPLES.  Compare the JSractions: (i) g—z- (u)—g— -13

Solution (i) By cross multiplication, we have:

3x8=24 and 5x5-=95
But, 24 < 25, 3

3, 54 5><I:

5 B
(i) By cross multiplication, we have:

9%x24 =216 angd 16x13 =208,

9 13

But, 216 > 208

16><124
ol

16 24
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‘ oD OF COMPARING MORE THAN TWO FRACTIONS : |
£ " Find the LCM of the denominators of the glven fractions, Let it be m B
step ! :
oo \ Convert all the given fractions into like fractions, each having m as denominator.
;ﬁ" Now, if we compare any two of these like fractions, then the one having larger
) numerator is larger.
: th ctions — 2 —3— 2- = in ascending ord I
pumEL  Arrange the fractions . 15 15 3¢ it
fractions are gl l
Soution  The given 5'10"14' 35
LM of 5, 10, 14,35 =(65x2x7) =
Now, let us change each of the glven fractlons into an S|5—-10—14—35 I
equivalent fraction having 70 as its denominator. 2[1—2—14—7
Now 2o2X14 _28.3  3x7 21 9 9x5 _45 71 —1—7—7 |
5 5x14 7010 10x7 70'14 14x5 70 l—1—1—1
ang 16 16x2 32 '
35 35x2 70 :
21 28 32 45
—_— < . '
Clearly. 76 <70 <70 < 70
3 2 16 9 :
10 5°35 14
3 216 9 §
Hence, the given fractions in ascending order are —, — :
e i 10'5'35' 14

ADDITION AND SUBTRACTION OF FRACTIONS

ADDITION OF FRACTIONS '
Rule 1. For adding two like fractions, the numerators are added and the denominator
remains the same.
s 245 7 6 _8+6 14
BAWPLES (1) —+—=—"=—" (u)— — i e
9 9 9 9 15.. 16e 185 18

Rule 2. For addition of two unlike fractions, first change them to like fractions and then
add them as given in Rule 1. : i

BAWPLET,  Add: >.4+.8.

10 15
Solution  LCM of 10 and 15 = (5x2x3) =
B 3,.3x3 _9 .8 8x2 16 5/16:518
10 10x3 30 15 .15x2..30 TR
B 3 8 9 16 _9+16 _28° 5

B 1071530730 30 30, .6
_%?f;‘ﬁuweﬂm
8.8 9416 25° B 30+10=3and3x3=9]

107157 30 30, 6 30+15=2and 2x8 =16
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13 27
EXAMPLES.  Find the sunt: 14 + 733
= (75 5) = 70.
Sohe PR ?5 *65_7:3‘: | 70 +14 =5 and 5x13 =65 ] 7|14—35
b I
- 119 - _1_7_ = 1 ’7‘ ‘
~ 70 10 10
Properties of Addition of Fractions: o @ e a .
—t— |+==—+|=+—
(1) Addition of fractions is assoclative, Le., (b + d] b (d f]

a ¢ c a
(ii) Addition of fractions is commutative, i.e., (B +E)~ [d + b]'

SUBTRACTION OF FRACTIONS ]
The subtraction of fractions can be performed in a manner similar to that of addition.

EXAMPLES.  Find the difference:

7 5 13 7 11 9
) > = (i) — ——
5=5 (16 12 15 20
Solution We have:
= )
w71.5_(7-8_2
9 9 9 9
(i) LCM of 16 and 12 = (4 x 4 x 3) = 48.
E_l_(39‘28)_}l. 48 +16=3 and 3x13 =39 4(16—12
16 12 48 48 48+12=4 and 4x7 =28 43
(iii) LCM of 15 and 20 = (5% 3 x 4) = 60.
11 9 (44-27) 17 60+15=4and 4x11 =44 5|15—20
15 20 60 60 60+20=3 and 3x9 =27 3—4
5 7 1
EXAMPLE10. Simplify: ———+=-
plify TR
Solution LCM0f9,12,2=(2x3x3x2)=36.
5 7 ,1_(20-21+18) [36+9=4 and4x5=20 R e
9 12 2 36 36+12=3 and 3x7 =21 oP=0=" ~
_(88-21) 17 [36+2=18and18x1=18 3—2—1
36 3
EXAMPLE 1. Simplify: 3%+2il——ll—l'
2 4
—10—2—4
Solution We have: -—25-2—;—0—1——2—‘
1 1 : R o
8—+2—-1-_1_16 21 3 1 1—1—1—2
5 10 2 4 5 10 2 1
_(64+42-30-5)
N 20 [- LCMof5, 10, 2, 4 =2x5x2l
~106-35) 71 _ 11
20 "920 “20°
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EXAMPLE 12: Sarita bought5 1 kg potatoes and 3 5 kg tomatoes from a vendor, What is tid et
weight of vegetables bought by her? a
Solution Total weight of vegetables bought by Sarita
_ gg+z k,_(23+14) i
|2 72)%T 1 g
37 1
=— kg =9—kg.
4 g 4 g
4
EXAMPLE 13. Rohit ate 7 part of an apple and his sister Ritu ate the remaining part of it? Who
ate more and by how much?
4
Solution Part of apple eaten by Rohit = 7
4) (7-4) 3
Remaining part of apple = (1 - 7) = T) ==
3
part of apple eaten by Ritu = =
4 3
learly, = > —-
Clearly; 277
So, Rohit ate more.
4 3) (4-38) 1
i tll i ts =l -|=————"77=—"
Difference of their par (7 7) Z -
2 5
EXAMPLE14. What should be added to 15 3 to get 188 ?
| 5
Solution Required number to be added =|18—-15 & = ]
6 3 6 3
_(113-94) —E—Sl-
6 6 6
EXAMPLE15. What should be subtracted from 17% to get 1 1% ?
Solution Required number to be subtracted = 17E -11 2 = 71_35
4 3 4 3
_(213-140) _ 73 —6—1—-
s 12 1212
EXERCISE 2A
1. Compare the fractions:
S ndt 1115
W gand o 5anall (i) 2 and
8§ 12 (W gand 5 12° 16
2. Arrange the following fractions in ascending order:
35711 a7 g
46912 5°10°15° 20
| ——_—
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3. Arrange the following fractions in descending order:
w377 17 a 237 8
4'8'12' 24 3'5'10'15

4
4. Reenu got < part of an apple while Sonal got 5 part of it. Who got the larger par¢ and b,
7

how much?
5. Find the sum:

5 7
5,3 S () —+—
i e i) =4+ —
(1) 9+9 (11) 9+12 6 8
7 11 9 4 ,3 1 082,102
V) —pms —4+2—+1— (vi) 8—+10
M o *et: ¥ 35+270* 15 2%
6. Find the difference: 8 14y
() 5_2 (i1) 5.3 (ili) 3= -—
7 7 6 4
i = S Sl v 2212
(iv) 7—4§ : (v) 310 115 ' 257115
7. Simplify: 8. = ,
.2 5 1 1 1 . .
e —4—-2= (iii) 8——-3—+1—
(i) 3+6 5 (i) 8 42 2 6 silTs

1 . .
8. Aneeta bought 3% kg apples and 4 Y kg guava. What is the total weight of fruits purchagseq
by her? 3 1
9. Arectangular sheet of paper is 15 Vi long and 12 5 e wide. Find its perimeter.

10. A picture is 7% cm wide. How much should it be trimmed to fit in a frame 7 % cm wide?
11. What should be added to 7% to get 18?
12. What should be added to 7% to get 8 % ?

3
13. A piece of wire BZ m long broke into two pieces. One piece is 1% m long, How long is the
other piece? 9 ]
14. A film show lasted for 3§ hours. Out of this time 1 2 hours was spent on advertisements.

What was the actual duration of the film?

15. Of % and g which is greater and by how much?

16. Thecostofapenis¥1 6% and that of a pencil is ¥ 4% - Which costs more and by how much?
—

MULTIPLICATION OF FRACTIONS
Product of their Numerators

Rule: Product of Fractions = -
Product of their Denominators
a c¢ (axc)
Thus, | —X— |= .
( b d ) (bxd)
EXAMPLE1.  Find the product: 1
5 3 3 5 9 8 5
) —x— (i) —x = i) = wx = ==
”8 1 155 ( )16><15 (lv)12><9
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Wehave'
solutton 3 5x3_15
“’“XZ’Bx«; 32
5 3x5 15_ 7
(ii)~ Ko = =12
2 4x2 8 8
8 9‘)(84 d
ili) = - s Sy
( ) x15 16, x15, 1
)r' '3x9_5><93 _1_§__3§
M9 T T12,x1 4 "4
g2, Multiply:
o T (i) 9= by 12 (m)ellb 31
D755 8 14 72
; We have:
Solution
(i) 73 3 68 3 6884><3" _ 844
x_ — —
‘972 9’3x% 3 3
75 1/2a 225 1
(ii) 9= =X —=—=112—-
8x12 g 1 2 2
| 1_95 7 95x7 _95 3
(iii) g—x3==—Xx— == =-93=.
614)<32 14 2 L4/x2 4 4

35 34

) 14
EXAMPLE3.  Simplify: 2—5-><—5—1-X 29

Solution We have:

14 35 34 142 x 357 x 342

4
25 51 49 2B, x5Tyx 405 15

4 2 .3
BaWPLES.  Simplify: 3—x22x1=-
Stmplify: 37 x2gx1y

Solution We have:
9 3 25 12 7 25°x12°x7/_

4
32,02x1° =22 —15.
7725 T T 5 4T T xsrxal

Use of ‘OF’
We define: Eofc=(chJ-
b b
EXAMPLES,  Find:
2 5 11
(i) = of 40 i) = of 48 lif) — of 63
Y ()gf ( )140f
Solution  We have:
(1)30f40 2 ffg_ﬂx2 46£X2_16 _
5 5 1 1 5 Ix5 ' "
8 orag-50p8_48,5_48°x5 80,2
9 91 1 9 1x9, 3 3 :
() 1 e 11 63 _63 11_68°x11_99 o1
14 14 1 1 14 1xl4 2 2
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EXAMPLE 6. Find: 5
1 N (it) ?_ of an year (iii) g of a day
(1) s of a rupee 3
l 4
11 4
— litre (vi) = of an hour
(iv) —gqfa kilogram (v) 25 of a 5

Solution We have:

1
(i) '—{- of a rupee = é of 100 paise = (100 X -S—)palsc
J

20 1
100 1 L[ Y807 X1 | isei= 90 paise.
=(Txg]paise—( 1x5, P

2
(i) = of an year = —g— of 12 months = (12 X §)months
3

12* x2)
1x3)

12

- (__ % -z—)months = months = 8 months.
1 3

5
(iii) % of aday = % of 24 hours = (24 X g]hours

= %xé hours = 24" x5 hours = 15 hours.
1 8 1x 8]

: 7
(iv) % of a kilogram = g of 1000 g = (IOOOX gjg

_(1o00 7)) _(1006™ x7
L1 T8 | 1x#

]g =875¢g

v) i1} of a litre = Ll of 1000 mL = 1000 x = mL
25 25 25

1000 11 1060%° x11

=|—x— |mL=|—=—"_~"~ =

(1 25)m ( 125, }mL 440 mL.
4

(vi) gofan hour=§of60 min;(SOx%)min

U 60'%2x4) .
1 °5 = 1><5’1 min = 48 min.

3
EXAMPLE7.  Milk is sold at ¥ IGZ per litre. Find the cost of 6% litres of milk.

Solution Cost of 1 litre of milk = ¥ 16§ = 6—7
4 4

Cost of6211tres of milk = ¥ _61)(3_2
5 4" 5

67 x32° 536 1
(552 oo (551002

Hence, the cost of 6% litres of milk is ¥ 107l .
5
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SOIUHOH

EXAMPLE 9.

Solution

EXAMPLE 10.

Solution

EXAMPLE 11,

Solution

EXAMPLE 12,

Solution

Fractions

25

2 e O
et hour. H 3

Sajal can walk 2 5 km {n an hour. How much distance will he cover i 3% Koilren

ajal in 1 hour = 2—2~ km = 132- km.

Distance covered by S =
1 12 10
Distance covered by Sajal in 35 hours = (_5_ X .3_) lan
(120t
B, x8, m = 8 km.,

Hence, the distance covered by Sajal in 1 hour is 8 km.

A carton contains 16 boxes of nalls and each box welghs 4 % kg. How much would a

carton of nails weigh?

3 19
i =4=kg=—Kkg
Weight of 1 box =4~ N g

19 19 16
; === x16 |kg=|—x— |k
Welghtof 16 boxes (4 ) g (4 X 1) g

4
=[19"]'6 Jkg = 76 kg

A x1
Hence, the weight of a carton is 76 kg,

A book consists of 216 pages. During last week Vikas read % of the book. How

many pages did he read?
Total number of pages in the book = 216.

Number of pages read = (-2— of 216) = (216 X 2—]

54
=(2§x§]= 267 x3 | _ 16,
1 4 1x A4,

Hence, Vikas read 162 pages during last week.

A tin contains 18 kg ghee. After consuming % of it, how much ghee is left in the tin?

Total quantity of ghee in the tin = 18 kg
Quantity of ghee consumed = % of 18 kg = (18 X -2—] kg

; |
=($x3jkg=(}8 szkg= 12 kg,

3 1x3)
Quantity of ghee left in the tin = (18 -12) kg = 6 kg,

4
Renu spends 5 o her income on household expenses. Her monthly {ncome s

¥30000. How much does she save every month?

Total monthly income = ¥ 30000.
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4 5f 7 30000

26

Monthly expenditure =
= ?(30000 % E) =¥

[9)

30000 4 J
1 5

6000
_ 7| 80000x4 | _234000.
1 x5,

Monthly savings = (30000 - 24000) = T 6000.

EXERCISE 2B
1. Find the product:
i 357 hj By (i) 2,18
= D 8 (vi) =x100
(iv) gx15 (v) 15 x20 8 X 0
. 6 2
N | 4 (ix) 3—x4Z
(vii) 3§x16 (viii) 215x12 Z 3
1 .9 .. 1_.10 5 .5
2 1= —x2— (xii) 5=—x1=
(x) 92x119 (xi) 48>< 11 6 7
2. Simplify: ‘
3 44 35 25 28 36 27 56
4 13 1 2 2 33 . 1 3 .95
i 12 1 — (V) 2=x7=x1— (vi) 3—x7=x1=Z
() 12150 x11g W 2T 16 7 39
3. Find: '
1 3 5
(i) §0f24 (i) Zof32 (iii) §Of 45
7 3 5
(iv) %of IOOQ (v) %of 1020 (vi) ﬁof? 220
(vii) gof 54 metres (viii) gof 35 litres (ix) %ofan hour
(x) 2 7 9
X) gofanyear (xd) %ofa kg (xii) %ofametre

7
(xiii) — of a day (xiv) J of a week (xv) L of a litre
8 7 50 .

4
4. Apples are sold at 485 per kg. What is the cost of 3% kg of apples?

1
5. Cloth is being sold at ¥ 42 5 per metre. What is the cost of Sg metres of this cloth?

6. A car covers a certain distance at a uniform speed of 66 = km per hour. How much distanc
will it cover in 9 hours? i
3
7. One tin holds 12 h litres of oil. How many litres of oil can 26 such tins hold?

8. For a particular show in a circus, each ticket costs ? 351. If 308 tickets are sold for the
show, how much amount has been collected? ?

)
9. < 3>
Nine boards are stacked on the top of each other. The thickness of each board is 3 3 cw

How high is the stack?
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4 ke ¢ lete round of a cire
es 4— minutes to make a complete 1d of a circular park. H X
10- Rohit takes ¢ OWmuch time wi))

ke 15 rounds?

His sister Kavita's weight is - of Amit’ ,
s sit : 8 s welght. How much does

he take to ma

Amit weighs 35 kg

11.

Kavita weigh? .

25 a class and © of the students are boys y

12. There arc 42 students inac > oys. How many girls are —_—

{he class? "

¥ + month. She spends — of h ) % i

13. Sapnd carns » 24000 per n I P er income and deposits rest of the

money in @ bank. How much money does she deposit in the bank each month?

' 2
i ar Z m. Find its area.

14, Each side of a squarc ficld is 4 3 m. Find its arca

- 2 3
15. Find the arca of @ rectangular par k which is 41—3— m long and 18g m broad.

—

DIVISION OF FRACTIONS

RECIPROCAL OF A FRACTION
Two fractions aré said to be the

4 9 ; . 4 9
2 .nd 2 are the reciprocals of each other, since (— X —) =1
For example, 9 an 4 P 9"

reciprocal of each other, if their product is 1.

. . b
In general, if -Z— is a fraction, then its reciprocal is o

Resiprocal of 0 does not exist.

Write down the reciprocal of:

EXAMPLE 1. 5
(0) -g- (i) % (e (w33

Solution We have:
(i) Reciprocal of < is L [ Sel 1
7 3 7 3
(ii) Reciprocal ofl is 5 5. d xb5=1
5 1 5
(iii) Reciprocal of 6 is é : : [ 6 x% = l]
(iv) Reciprocal of 3§ = reciprocal of 2.5, { 2, LI }
8 8 29 8 29
DIVISION OF FRACTIONS
Rule To divide a fraction by another fraction, the first fraction is multiplied by the
reciprocal of the second.
Thus, (2 +£j = (2 xﬂ .
b.d b c
EXAWPLE2.  Simplify:
4 5 5 '
W+2 @210 53 +2L
975 )7 (lli)55.210
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Solution

EXAMPLE 3.

Solution

EXAMPLE 4.

Solution

—
: 5 6
We h.::;ve.5 4 6 , [ the reciprocal of r is g]
(i) =+ ===—X=—
9 6 9 5
_4xpg? _ 8
T gyx5 15
(i) =+1 =77 50 |
5 1 .. the reciprocal of — is —
==X ' 1 10
FA
~ 5 x1 _1
T 7x10, 14
3 .1 28 21
W 55+216=% 10 51 i
28 10 the reciprocal of — is —
=5 “21 10 21
2
_28x30" 8 _,2
5 x21; 3 3
Divide:
S py 2 iy (iii)4gby2g
() §by 2 (ii) 5 ; by 14 7 5
We have:
2 3
w2,2.5,3 -+ reciprocal of = is —]
9 3 9 2 3 2
_5x3" 5
,93x2 6
(11)52—953_9_9.
7 14 7 14
39 14 13 14
=== reciprocal of — is
7 13 [ p 14 13]
_39°x14* 6 _ s
,7/x1/3 1
(i) 42,9280, 12
7 5 7 5
30 5 [ 12 5
R AST " reciprocal of = js —
7 12 5 12
_808°x5 25 1
7><,1%2 14 14
Divide:
i / 2
(1) 28 byz (ii) 36 by 6§
We have:

()og.?_28.7 28 4 ey
4 1 4 ><7 ' reciprocal of = is ;]
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36,3 [ reciprocal of L]
1 3 20
369 x3 27 =B

=1X205 5

O ]

s 4 rope o endlh 9% m is cut (nto 6 pieces of equal length. Find the length of
EXAMPLE >
each piece:

Solution Length of the rope = ) - m.

f equal pieces = 6.
Number of equal p o~ 396
Length of each piece = 7y +6|m= = m

= 39 X L] m) { reciprocal of 6 is 1]
4 6 6
13
=3g: ><11‘1’]=EI‘1‘1=1§I‘11
4x8, 8 8
5
Hence, the length of each piece is lg m.
1
EXAMPLEG.  If the cost of 5% litres of milk isX 2362, find its cost per litre.
945
Solution Cost of 2‘51 litres of milk = ¥ e
945 2
= cost of 1 litre of milk =X (—4—— + gj
435 |
=X 2 X kil [ reciprocal of 24 is i}
27,) 5 27 !
4 4

Hence, the cost of milk per litre is ¥ 43 %

1
EXAMPLET.  The cost of SZ kg of mangoes is X 231. At what rate per kg are the mangoes
being sold?

Solution  Cost of % kg of mangoes = ¥ 231

= cost of 1 kg of mangoes = ¥ (231 —2)
4
4
=% (231! ><i "+ reciprocal of 21, is —-}
21, ’ 4 21

=3 44.
Hence, the mangoes are being sold at ¥ 44 per kg,

¥,
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15 5, If one of the numbers is 6g find
EXAMPLES.  The product of two numbers (s 6 3’ the other.
5
Solution Product of two numbers =15 8 r
2 20
One of the numbers = 67, = —,3—
. bkt 95 " 20
The other number = 6 3
(o]
& 9§x 3 [ reciprocal of = is —
6 20 -3 20
95'9 x8! 19

3
. —=2—"
,%x%,; 8 8

3
Hence, the other number is 2 g .

EXAMPLES. By what number should 6% be multiplied to get 40?

Solution Product of two numbers = 40.

2 56
One of the numbers = 65 =—

9
56) (40 56
Th =140+ = |=| —+—=
e other number (40 9) (1 9)
_(40,9)_40°x9 _45 .3
=T %56 1x56, 7 7

Hence, the other number is 69-

EXERCISE 2C
1. Write down the reciprocal of: A
5 . : 1 3
i) - (i) 7 (iii) — i =
= 15 (iv) 12 5
2. Simplify:
S 4 9 7 3
. 1
() 9+ = V) 2442 i) 3§_i
: U 5 5
3 8 4 3
(vil) 32+ = (viil) 52 41> 3 23
7 21 7710 2157 +1%9
3. Divide:
11, 7 7
(1) — by — ) 6L py 1L 5. .31
22 Vg 8by16 (iii) 5§by33
(iv) 32 bylg (v) 45 by13 (vi) 63 by 2=
5 5 V<Y
1
4. Arope oflength13 Zm has been divided into 9 pieces of the same length. What is the length
of each piece?
5.

18 boxes of nails weigh equally and their tota] weight is 49 kg. How much does each
box weigh?
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3
te of T 6 — per orange,
oranges at the ra 1P ge, aman gets ¥ 378. How many oranges does

By selling
he sell? 1
Mangoes are sold at 4 43-2- per kg. What is the weight of mangoes avallable for Z 326l ?

t of 20?- km in 7g hours It 4
yikas can cover a distance 3 n s on foot. How many km per hour does
he walk? , 1
preeti bought 85 kg of sugar for < 2422 - Find the price of sugar per kg,

3
If the cost of a notebook is 327 e how many notebooks can be purchased for ¥ 249% ?

1
At a charity show the price of cach ticket was ¥ 32 4 The total amount collected by a boy

was < 877—1— . How many tickets were sold by him?
2

A group of students arranged a picnic. Each student contributed 261%. The total

contribution was 3 2876l . How many students are there in the group?

4 litres of milk was distributed equally am
tudents are there in the hostel?

ong all the students of a hostel. If each student

2
got % litre of milk, how many S

A bucket contains 20—}1- litres of water. A small jughas a capacity of % litre. How many times
the jug has to be filled with water from the bucket to get it emptied?

The product of two numbers is 15% .If one of the numbers is 6%, find the other.

By what number should 9% be multiplied to get 427

By what number should 6% be divided to obtain 4—‘;1?

I

EXERCISE 2D

OBJECTIVE QUESTIONS
Mark (/) against the correct answer in each of the ft ollowing:

1.

2'

3.

Which of the following is a vulgar fraction?

3 N
@1 (b) = .22 (d) none of these
10 3
Which of the following is an improper fraction?
7
@ 10 (b) g (c) g (d) none of these
Whic?o%f the following is a reducible fraction? -
¥ (b) 12 (0 2 @ =
2 121 72 63

Lo Tt (e e R L R T e R

p———y et

sriarsmensc
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g ==, 5 B
3 6 912 (b) irreducible fractions
(a) like fractions d) none of these
(¢) equivalent fractions (d)
5. Which of the following statements is true? 5 4
@ 218 ) 2 < 13 © 76> 54 (d) none of thegy
16724 16" 24
6. Reciprocal of 1% is
d
) = d) none of
(a) 1% (b) 4 () 37 ( these
7 i+—8— =7?
10 15 5
1
(@) % (b) 1—5 (c) 8 (d) none of thege
8. |3--21).
= 1 11
1 1 = d) —
(a) IE (b) o (c) 111 (d) 12
9. 36 = l =7 |
N 1
@9 (b) % © g (d) 144
10. By what humber_ should 2% be multiplied to getl g 9
5 5 1 1
(@) 1= (b) —. c) 1= —
- = (c) - (d) =
11. By what number should 1% be divided to get —2—?
2 2 4
(@) 23 (b) 13 (© 5 (d) 2%
12, 1 -:i + —2— =?
5 3
1 9
(a) 1— e 2
15 (b) 110 (c) 25 (d) none of these
1 1
13. 2—-+1-=
5 ?
@) 1 (b) 2 (c) 1% (d) 1§
14. The reciprocal of 1% is 6
1
a) 3— 1
5
15. Which on; ofltime following i the correct statemento
(a]§<g<Ig (b)§<3<1\4 (C) 14 3 2
15 15 < 5 < 3 (d) none of these
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— 3
ar runs 16 km using 1 litre of petrol. How much distance wil] i cover in 2§ litres
16. A€ .
of pctrol?
b) 36 km (¢) 44 km d) 3 3
3
-1— g v day and recads tl
. Lalit reads a book forl 2 hours cvery day and reads the entire book [n 6 days. How many
hours does he take to read the entire book?
JOUTS S
1 1 1
l — ¥ —_—
(@) 105 hours (b) 95 hours (c) 72 hours (d) 115 Houta

(ﬁin@ to Remember)

1. The numbers of the form %, where a and b are natural numbers, are called fractions.

9. In 2 e call a as numerator and b as denominator.

3. To get a fraction equivalent to a given fraction, we multiply (or divide) its numerator and
denominator by the same nonzero number.

4. Fractions having same denominator are called: like fractions. Otherwise, they are called unlike
fractions. .

5. In order to convert some given fractions into like fractions, we convert each one of them into an
equivalent fraction having a denominator equal to the LCM of all the denominators of the given

fractions.
6. A fraction whose numerator is less than its denominator is called a proper fraction. Otherwise, it is

called an improper fraction.
7. A mixed fraction = A whole number + A fraction.

8. Let % and Ecl_ be two given fractions.
a
Cross multiply them as .

a_c
i) Ifad > bc, then — > — -
i Ir e

a_c
(i) If ad< bc, then —< — -
) If -

(iti) If ad =bc, then ==
b d
sum of their numerators
common denominator
10. For adding unlike fractions, change them into equivalent like fractions and then add.
11. Difference of like fractions = difference of their numerators
common denominator

12. For subtracting unlike fracttons, change them into equivalent like fractions and then subtract.
13,24 ¢ |_laxc) '

b d) (bxd)

9. Sum of like fractions =

14, b

Reciprocal of a nonzero JSraction Lis 2.

a
15.(E+£)= a d)
\b d) (b ¢
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9.

. Define: (i) Fractions

TEST PAPER-2

(1) Vulgar fractions (1if) Improper fractions

Give two examples of cach.

K PR
What should be added to ()-5 {o get 157

5 3 7
i . A=+ 2Q—-
Simplify: 9 5 4 3 + 12

3
Find: (i) = of a litre (1) g— of a kilogram  (iil) ¢ of an hour
25

2
3 Z litres of milk.
Milk is sold at ¥ 372 per litre. Find the cost of 6 5 litres

The cost of 5 = kg of mangoes isZ 189. At what rate per kg are the mangoes being so]?
4

5 1
2.32
(il) 59

3 2 4
Simplify: (i) 1—4: x 2 g x3= 3

7
2 , 2,
By what number should 65 be diwded to obtain 4 5

2 .
Each side of a square is 5 3 m long. Find its area.

B. Mark (v) against the correct answer in each of the following:

10.

11.

12.

13.

14.

15.

Which of the following is a vulgar fraction?

7 19 ' 3 5
s b) — ~ (c) 3— (d) =
T ®) T00 t).390 8
Which of the following is an irreducible fraction?
105 66 46 51
= b) — —_ d) ==
(a) 112 _ (b) - (c) 63 .( ) 35
Reciprocal of 1% is
()12 (b) 5= (c) 32 d) none of th
3 3 c 5 (d) none of these
1§ -+ 2 =7?
5 3
9 1 2
(a) 1’1‘6 (b) 1% (c) 25- (d) none of these
Which of the following is correct? .
2.3 .11 e 8|
)3 S5~75 bl z<3<E
1.9 .2 3 11 2
()15<5<3 (d)g<ﬁ g
By what number should 1% be divided to get 2 l?
2
3 2
(a) = (b) 12 (el 3
7 5 . ) 10 (d) 17
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\
A car runs 9 km using 1 litre of petrol. How much distance will it coyer in 3 2 litr
es
g petl'Ol? 5 of
(a) 36 ki (b) 33 km (02 km (d) 22 ke
7. Fillin the blanks.
o £ (i) 13
(1) Reciprocal of 85 is ... . 5* 8=....
3,73, (1v) 412x18§—
(i11) 592*’4—--"" 3 5 T

v) s (in irreducible form) = ......
98

D. 18. Write “T" for true and ‘F’ for false for each of the following:

NEDSER
()16 24

2 16 9 16
" =,— and —, the largest is —-

("i) H__g_—_1—7.
15720 60

(iv) ll of a litre = 440 mL.
25

(v) 16§x6-2- .—.1073-
4 5 10
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Decimals

In class VI we read about decimals, addition and subtraction of decimals, etc. We shall review
these concepts in this chapter and take up multiplication and division of decimals.

Decimals The numbers expressed in decimal forms are called decimals.

EXAMPLES Each of the numbers 6.8, 16.73, 7.364, 0.053, etc., is a decimal.

A decimal has two parts, namely
(i) whole-number part, (ii) decimal part.
These parts are separated by a dot (), called the decimal point.
The part on the left side of the decimal point is the whole-number part and that on its right
side is the decimal part.

EXAMPLE  In 73.62 we have, whole-number part = 73 and decimal part = .62.
Decimal places The number of digits contained in the decimal part of a decimal gives the
number of decimal places.

EXAMPLES = 5.74 has two decimal places and 8.536 has three decimal places.

Like decimals Decimals having the same number of decimal places are called lilce decimals.

EXAMPLES  6.73, 8.05, 19.68 are like decimals, each having two decimal places.

Unlike decimals Decimals having different number of decimal places are called unlike
decimals.

EXAMPLES  Clearly, 5.3, 8.64, 10.023 are unlike decimals.

An Important Result Putting any number of zeros to the extreme right of the decimal part ofa
decimal does not change its value.
Thus, 3.8 = 3.80 = 3.800, etc., 2.94 = 2.940 = 2.9400, etc.

EXAMPLE1.  Arrange the digits of 374.568 in the place-value chart.
We may arrange the digits of the given number in the place-value chart a3

shown below:

Solution

Decimal point| Tenths |Hundredths Thousandths
5 6 8

Hundreds | Tens | Ones
B 7 4

36
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comPa""g pecimals
Suppose we have to compare two given decimals. We follow the following steps to do this.
’ Convert the given decimals into like dectmals.
Step 1.
2 First compare the whole-number part.
The decimal with the greater whole-number part is greater.
step 3 If the whole-number parts are equal, compare the tenths digits.
Pe The decimal with the bigger digit in the tenths place is greater.
Stepd. If the tenths digits are also equal, compare the hundredths digits, and so on.
exampLE2.  Write the following decimals in ascending order:
5.74, 6.03, 0.8, 0.658 and 7.2.
Solution Converting the given decimals into like decimals, we get them as:
5.740, 6.030, 0.800, 0.658 and 7.200.
Clearly, 0.658 < 0.800 < 5.740 < 6.030 < 7.200.
Hence, the given decimals in ascending order are:
0.658, 0.8, 5.74, 6.03, 7.2.
METHOD OF CONVERTING A DECIMAL INTO A FRACTION
Step 1. Write the given decimal without the decimal point as the numerator of the
Jraction.
Step 2. In the denominator, write 1 followed by as many zeros as there are decimal
places in the given decimal.
Step 3. Reduce the above fraction to the simplest form.
EXAMPLE3.  Convert each of the following decimals into a fraction in its simplest form:
(i) .5 (ii) .24 (iii) .08 (iv) .225
Solution We have:
Bl 1 24° 6
(i).56=—-=—- (ii) .24 = =—:
¥, 2 160, 25
8 2 225° 9
(iii) .08 = =—- (iv) .225 = =—
100, 25 1060,, 40
CONVERTING A FRACTION INTO A DECIMAL
Step 1. Divide the numerator by the denominator till a nonzero remainder is obtained.
Step 2. Put a decimal point in the dividend as well as in the quotient.
Step 3. Put a zero on the right of the decimal point in the dividend as well as on the right
of the remainder.
Stepd. Divide again just as we do in whole numbers.
Steps. Repeat steps 3 and 4, till the remainder is zero.
EXAMPLE4,  Convert each of the following into a decimal fraction: 1
27 5 i
) — hud
(1) 2 (i) 2 5
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Solution On dividing, we get: 5 21
27 () 2= =—4
“)——- 8 8
6.75 2.625
4)2700 8)21.000
-24 -16
30 50
-28 -48
20 20
-20 -16
X 40
27 -40
'4— = 675 %
2 é = —2—1— =2.625.
8 8
EXAMPLES.  Express as rupees using decimals:
(i) 536 paise (ii) 65 rupees 78 paise (iii) 6 rupees 6 paise
(iv) 28 paise (v) 5 paise
Solution We have:
(i) 536 paise = ?§§§= ¥ 5.36.
(ii) 65 rupees 78 paise = ¥ 65.78.
606
(iii) 6 rupees 6 paise = (6 x100 +6) paise = 606 paise = 100 — 36.06.
(iv) 28 paise =X —8- =3 0.28.
100
(v) 5 paise = T —— =% 0.05
£ 100
EXAMPLE6.  Express 5 cm in metre and kilometre.
5
5 =——m = 0.05
Solution cm 100 m m
0.05
= —— km = 0.00005 k
1000 -
5 cm = 0.05 m = 0.00005 km.
EXAMPLE7.  Express in kg using decimals:
(i) 60 g (i) 7380 g (iii) 6 kg8 g
Solution We have:
1 60 = = k = 0.
N EEES 1000 kg = Joo & =006 kg

7380

(i1) 7380 g = —(—)— kg 7.380 kg

(i) 6 kg8 g=

(6x1000) g+ 8 g=(6008) g
_ 6008
= 5500, kg = 6.008 kg.
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EXERCISE 3A
1 convert each of the following into a fraction in its simplest form:
g. Convert each of the following as a mixed fraction:
" () 5.6 (i) 12.25 (l1) 6.004 (V) 4.625
3. Convert each of the following into a decimal:
' 156 2516
L () — i) === (lv) 5924
10 100 100 1000
265 2 2 17
o it (vi) 3= (vil) 2 — i) —
v) 8 5 o5 (viil) o0
4. Convert each of the following into like decimals:
(i) 6.5.16.03,0.274, 119.4 (i) 3.5, 0.67, 15.6, 4
5. Fill in each of the place holders with the correct symbol > or <.
(i) 78.23[_]69.85 () 3.406[ | 3.46
i) 5.68 ] 5.86 (iv) 14.05 [ |.14.005
v) 1.85[ | 1.805 i) 098 [ | 1.07
6. Arrange the following decimals in ascending order: i
(i) 4.6, 7.4, 4.58, 7.32, 4.06 (ii) 0.5, 5.5, 5.05, 0.05, 5.55
(iii) 6.84, 6.48, 6.8, 6.4, 6.08 (iv) 2.2, 2.202, 2.02, 22.2, 2.002
7. Arrange the following decimals in descending order:
(i) 7.4, 8.34,74.4,7.44,0.74 (ii) 2.6, 2.26, 2.06, 2.007, 2.3
8. Express 45 mm in cm, m and km.
9. Express as rupees using decimals:
(i) 8 paise (ii) 9 rupees 75 paise (iii) 8 rupees 5 paise
10. Express in km using decimals:
(i) 65 m (ii) 284 m (iii) 3 km 5 m
—_—
ADDITION AND SUBTRACTION OF DECIMALS
ADDITION OF DECIMALS
METHOD:
Step 1. Convert the glven decimals into like decimals.
Step2. Write the addends one under the other in column form, keeping the dectmal polnts

of all the addends in the same column and the digits of the same place in the
same column,

Step3. Add as n the case of whole numbers.
§
tep 4, In the sum, put the dectmal point directly under decimal points in the addends.
SAMPLEL.  Add 36.4, 273.06, 9.397 and 68.
Solution

Converting the given decimals into like decimals, we get:
36.400, 273.060, 9.397 and 68.000.
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Writing these decimals in column form and adding, we get:
36.400
273.060
9.397
68.000
386.857
Hence, the sum of the given decimals s 386.857.

SUBTRACTION OF DECIMALS

METHOD:
Step 1.
Step 2.

Step 3.
Step 4.

EXAMPLE 2.

Solution

EXAMPLE 3.

Solution

EXAMPLE 4.

Solution

EXAMPLE §.

Solution

Convert the given decimals into like decimals.

Write the smaller number under the larger one in column forminsucha way thqt
the decimal points of both the numbers are in the same column and the digits of
the same place lie in the same column.

Subtract as we do in case of whole numbers.

In the difference, put the decimal point directly under the decimal points of the
given numbers.

Subtract 47.56_from 83.2.

Converting the given decimals into like decimals, we get 47.56 and 83.20.
Writing them in column form with the larger one at the top and subtracting, we get:
83.20
—47.56
35.64

Hence, (83.20 — 47.56) = 35.64.
Simplify: 63.7 —28.89 +76.4 —37.66.

Converting the given decimals into like decimals, we have:
63.7 —28.89 +76.4 - 37.66
=63.70 - 28.89 +76.40 — 37.66
=(63.70 + 76.40) - (28.89 + 37.66)

=(140.10-66.55) -66.55
=73.55. 7355
How much less is 28.8 km than 42.3 km?
42.3
Required difference _98.8

= (42.3 - 28.8) km

13.5
= 13.5 km. —_—

he total

Shayama bought 4 kg 350 g potato, 3 kg 80 g tomato and some onion. If t?
welght of the three vegetables is 10 kg 200 g, what is the welght of onion

Total weight of all the vegetables = 10 kg 200 g = 10.200 kg +‘3¥-ng

— 7.430
_ 7439

Weight of potato = 4 kg 350 g = 4.350 kg

Weight of tomato = 3 kg 80 g = 3.080 kg.

Weight of onion = [10.200 - (4.350 + 3.080)] kg
 =(10.200 - 7.430) kg = 2.770 kg

Hence, the weight of onion is 2 kg 770 g,
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EXERCISE 3B E

Add: §
.. 16,8.7.0.94,6.8 and 7.77 2. 18.6, 206.37, 8.008, 26.4 and 6.9 :
5, 63.5.9.7,0.8,26.66 and 12.17 4. 17.4, 86.39, 9.435, 8.8 and 0.08 :
5. 26.9,19.74, 231.769 and 0.048 6. 23.8, 8.94, 0.078 and 214.6 !
7. 6.606, 66.6, 666, 0.066, 0.66 8. 9.09, 0.909, 99.9, 9.99, 0.099 '
subtract: '
9. 14.79 from 72.43 10. 36.74 from 52.6 1
11. 13.876 from 22 12. 15.079 from 24.16 §

18. 0.68 from 1.007 14. 0.4678 from 5.05

15. 2.5307 from 8 16.
17. Take out 5.746 from 9.1.

18. What is to be added to 63.58 to get 927
19. What is to be subtracted from 8.1 to get 0.8137

By how much should 32.67 be increased to get 60.17

21. By how much should 74.3 be decreased to get 26.87?

22. Rohit purchased a notebook for 7 23.75, a pencil for ¥ 2.85 and a pen for X 15.90. He gave a
50-rupee note to the shopkeeper. What amount did he get back?

6.732 from 9.001

20.

e
——

ST I RO N R R R D e

FE

MULTIPLICATION OF DECIMALS

MULTIPLICATION OF A DECIMAL BY 10, 100, 1000, etc.

Rules: (i) On multiplying a decimal by 10, the decimal point is shifted to the right by

T T T e

one place.
(ij) On multiplying a decimal by 100, the decimal point is shifted to the right by 1
two places. g

(itf) On multiplying a decimal by 1000, the decimal point is shifted to the right by

three places, and so on.

EXAMPLE1.  Find the product:

(i) 67.24 x10 (11) 4.956 x100 (iil) 2.3748 x1000
Solution We have:
(1) 67.24x10=672.4 [shifting decimal point to the right by 1 placel
(1) 4.956x100 = 495.6 [shifting decimal point to the right by 2 places]

(111) 2.3748 x1000 = 2374.8 [shifting decimal point to the right by 3 places]

EXAMPLE2.  Muitiply 35.6 by 1000.
Solutton  On multiplying 35.6 by 1000, the decimal point
3 places.
So, we write, 35.6 = 35.600.
35.6 x1000 = 35.600 x1000 = 35600.
Hence, 35.6 x 1000 = 35600.

will be shifted to the right by

- n S
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METHOD:

Step 1.

Step 2.

EXAMPLE 3.

Solution

METHOD:

Step 1.
Step 2.

EXAMPLE 4.

Solution

EXAMPLE 5.

Solution

MULTIPLICATION OF A DECIMAL BY A WHOLE NUMBER

Multiply the decimal without the dectmal point by the given whole number.

Mark the decimal point in the product to have as many places of decimal qg are
there are in the given decimal.

Find the product:

(1) 5.43x15 (i1) 0.327 x12 (iil) 0.065x 9
We have:
(i) 543 x15 = 8145.
5.43x15 = 81.45. (2 places of decimal)
(ii) 327 %12 =3924.
0.327 x12 = 3.924. (3 places of decimal)
(ili) 65x9 = 585.
0.065 x9 =0.585. (3 places of decimal)

MULTIPLICATION OF A DECIMAL BY A DECIMAL

Multiply the two decimals without the decimal point just like whole numbers.

Mark the decimal point in the product in such a way that the number of

decimal places in the product is equal to the sum of the decimal places in the
given decimals.

Multiply 73.68 by 5.4.
First we multiply 7368 by 54.
7368
x 54
29472

368400
397872

7368 x54 = 397872.
Sum of decimal places in the given decimals = (2 +1) = 3.
So, the product must contain 3 places of decimal.
73.68x5.4 =397.872. (3 places of decimal)
Multiply 0.089 by 0.76.

First we multiply 89 by 76,

89
X 76
534
6230
6764

89X 76 = 6764.

Sum of decimal places in the given decimals = (3 + 2) = 5.
So, the product must contain 5 places of decimal.
0.089x0.76 =0.06764. (5 places of decimal)
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EXAMPLE 6. Multiply 0.0235 by 0.0327. 5
[
Solution First we munglSy 235 by 327.
x 327
1645
4700
70500
76845

235x 327 = 76845.
Sum of decimal places in the given decimals = (4 + 4) =8.
So, the product must contain 8 places of decimal.
0.0235%0.0327 = 0.00076845.

EXAMPLE7.  Find the product 0.47 x5.3x0.06.

Solution First we find the product 47 x53 x 6. 47
Now, 47x53x 6 =2491x6 =14946. 228
Sum of decimal places in the given decimals = (2+1+2) =5. 2350
So, the product must contain 5 places of decimal. 24)? é
0.47 x5.3%x0.06 = 0.14946. 14946
exawpLEs.  If the cost of a pen is T 28.50, find the cost of 48 such pens.
Solution Cost of 1 pen = X 28.50.
Cost of 48 pens = ¥ (28.50 x 48) | 2322
=¥ 1368.00 ' 59800
=7 1368. 114000
Hence, the cost of 48 pens is ¥ 1368. : 136800,

EXAMPLES, The cost of 1 metre of ribbon is ¥ 35.80. What will be the cost of 9.8 metres

of ribbon?

Solution Cost of 1 m of ribbon = ¥ 35.80. A 3580
Cost of 9.8 m of ribbon = Z (35.80 x9.8) oo

= ¥ 350.840 322200

= ¥ 350.84. 350840

~ Hence, the cost of 9.8 m of ribbon is ¥ 350.84.
EXAMPLE10. 1 kg of milk has 0.264 kg of fat. How much fat is there in 12.5 kg of milk?

Solution  Quantity of fat in 1 kg of milk = 0.264 kg, 264
Quantity of fat in 12.5 kg of milk = (0.264 x12.5) kg e

‘ 1320

= 3.3000 kg 5280
= 3.3 kg | 26800
Hence, the quantity of fat in 12.5 kg of milk is 3.3 kg 33000

. o A S T

y EXERCISE 3C
+ Find the product: A 'l
(1) 73.92x10 (11) 7.54x10 (111) 84.003x10 i
(iv) 0.83x10 () 0.7x10 ' (v1) 0.032x10 !
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Find the product: \

(i) 2.397x100 (1) 6.83x100 (111) 2.9x100

(iv) 0.08 x100 (v) 0.6x100 (vl) 0.003 %100
- Find the product:

(i) 6.7314 x1000 (if) 0.182x1000 (1) 0.076 » 1000
(iv) 6.25 %1000 (v) 4.8x1000 (vi) 0.06 %1000
Find the product:

(i) 5.4x16 (i) 3.65x19 (1) 0.854 %12
(iv) 36.73 x 48 (v) 4.125x 86 (vi) 104.06 275
(vii) 6.032x124 (vill) 0.0146x69 (ix) 0.00125% 327
Find the product:

(i) 7.6x2.4 (i) 3.45%x6.3 (i1i) 0.54%0.27
(iv) 0.568 % 4.9 (v) 6.54x%0.09 (vl) 3.87x%1.25
(vii) 0.06x0.38 (viif) 0.623x0.75 (ix) 0.014%0.46
(x) 54.5%x1.76 (xi) 0.045x2.4 (xii) 1.245x%6.4
Find the product:

(i) 183%x1.3%0.13 (ii) 2.4x1.5%x2.5 (iii) 0.8x3.5x0.05
(iv) 0.2x0.02x0.002 (v) 11.1x1.1x0.11 (vi) 2.1x0.21x0.021
Evaluate:

(i) (1.2)? (i) (0.7)? (iil) (0.04)? (iv) (0.11)?
Evaluate:

(i) (0.3)° (i) (0.05)° (iii) (1.5)°

. A bus can cover 62.5 km in one hour. How much distance can it cover in 18 hours?

10.
11.
12,
18.
14.
15.
16.
17.
18.

19.

A tin of oil weighs 16.8 kg. What is the weight of 45 such tins?

A bag of wheat weighs 97.8 kg. How much wheat is contained in 500 such bags?

Find the weight of 16 bags of sugar, each weighing 48.450 kg.

A small bottle holds 0.845 kg of sauce. How much sauce will be there in 72 such bottles’
A bottle holds 925 g of jam. How many kg of jam will be there in 25 such bottles?

If one drum can hold 16.850 litres of oil, how many litres can 48 such drums hold?

1 kg of rice costs ¥ 56.80. What is the cost of 16.25 kg of rice?

1 metre of cloth costs ¥ 108.50. What is the cost of 18.5 metres of this cloth?

A car can cover a distance of 8.6 km on one litre of petrol. How far can it go on 36.5 liue
of petrol?

A taxi driver charges X 9.80 per km. How much will he charge for a journey of 106.5 o

DIVISION OF DECIMALS

DIVIDING A DECIMAL BY 10, 100, 1000, etc.

0.
Rules: (i) Ondivlding a decimal by 10, the decimal point is shifted to the left by onepld "

(tt) On dividing a decimal by 100, the decimal point is shifted to the left”

two places. [

hré
(ili) On dividing a decimal by 1000, the decimal point is shifted to the left byt
places, and so on.
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MPLE1’ Divide.'
EXA (i) 16.8 by 10 (ii) 236.4 by 100 (itt) 3709.6 by 1000
ution We have:
50 _168 _, 68 (shifting decimal point to the 1
(1) 16.8+10= o p o theleft by 1 place]
236.4
(i) 236.4 + 100 = 'IE)B_ =2.364 [shifting decimal point to the left by 2 places]
3709.6
(iil) 3709.6 +1000 = 1000 = 3.7096 [shifting decimal point to the left by 3 places]
EXAMPLE 2. Divide: ) |
(i) 0.46 by 10 (ii) 2.34 by 100 (tit) 6.28 by 1000
soltion ~ We have:
(i) 0.46 +10 = 91—4(—)9 =0.046 [shifting decimal point to the left by 1 place]
. 2.34 .
(ii) 2.34 +100 = <00 =0.0234 [shifting decimal point to the left by 2 places]

(iii) 6.28 +1000 = ?62686 —0.00628 [shifting decimal point to the left by 3 places]

DIVIDING A DECIMAL BY A WHOLE NUMBER

METHOD:
Step 1. Perform the division by considering the dividend a whole number.
Step 2. When the division of whole-number part of the dividend is complete, put the decimal

point in the quotient and proceed with the division as in case of whole numbers.
EXAMPLE3.  Divide 39.168 by 12.

Solution . We have:

12)39.168(3.264
-36
31
24
76
72
48
-48
0
39.168 +12 = 3.264.
EXAMPLE4.  Divide 0.567 by 9.
Solution We have:
9)0.567(0.063
-0
56
-54 \
27
=27
0

0.567 + 9= 0.063.
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REMARK

EXAMPLE 5.

Solution

EXAMPLE 6.

Solution

EXAMPLE 7.

Solution

EXAMPLE 8.

Solution

—

Sometimes on dividing a decimal by a whole number, the last remainder obtained ig
nonzero. In such cases Insert as many zeros on the right of decimal part of the

dividend as necessary to make the last remainder zero.
Divide 2.32 by 16.

We have:

0.145
16)2.320 « one zero annexed
=0
23
-16
72
-64
80
-80 °
0
2.32+16 =0.145.

Divide 48.38 by 8.

We have:

6.0475
8)48.3800 < two zeros annexed
=48
38
-32
60
-56
40

=40

0

48.38 + 8 =6.0475.
Divide 202.4 by 40.
We have:

2024 2024 20241 506

= = X—="""_

Find the quotient:
(1) 0.018 + 0.6 (1) 0.0018 + 0.09 (1) 0.196 + 1.4
We have:
0.018 0.018x10 0.18

(1) = =220
0.6 0.6x10 6

6)0.18(0.03
-0

18
-18
0

0.018 o 0.18 —0.03.
0.6 6
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— 40018 0.0018x100 _0.18

EXAMPLE 8.

Solution

EXAMPLE 10.

Solution

EXAMPLE 11,

Solution

009 _ 0.09x100 9

9)0.18(0.02
=0
18
{8
0

—

0.0018 _0.18 _

0.09 9
(iii) 0.196 _0.196x10 _1.96

14 - 1.4x10 14

14)1.96(0.14
-0 __
19
-14_
56
=96 _
_0
0486 L3I0 _5.1a.
1.4 14

A bowler took 15 wickets for 321 runs. What is his average score per wicket?
Total score = 321 runs.
Total number of wickets = 15.

21
Average score per wicket = 31—5 runs = 21.4 runs.

Hence, the average score is 21.4 runs per wicket.

A car covers a distance of 108.9 km in 1.8 hours. What is the average speed of the car?
Total distance covered = 108.9 km.
Total time taken = 1.8 hours.
distance
time taken
1(1)889 km/h = 10& lm/h

121
—— km/h = 60.5 km/h.

Average speed of the car =

Hence, the average speed of the car is 60.5 km/h.
The cost of 24 toys of the same kind is T 783.60. Find the cost of each toy.

Cost of 24 toys = 7 783,60, 24)783.60(32.65
Costof 1ty - ¢ 783.60 53
24 48
H =¥ 32.65, i 156
efice. the cost of each toy is % 32,65, 5
-120
20 .
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—
kg, If each ba
EXAMPLE12.  The total welght of some bags of cement is 1743 kg If g weighs 49 g kg
how many bags are there?
Solution Total weight of all the bags = 1743 kg,
Weight of cach bag = 49.8 kg. —
total weight 498_)111‘51)10(35
Number of bags = welght of each bag T
1743 (1743 % 10 _i49\0_
~ 498 (49810 0
_17430 _ 45
498 -
Hence, the required number of bags = 35.
EXAMPLE13. Mr Thukral distributed ¥ 1840 equally among NCC cadets for refreshment, Ifeach
cadet received ¥ 28.75, how many cadets were there?
Solution Total amount distributed = ¥ 1840.
Amount received by each cadet = I 28.75.
total amount _64
Number of cadets = : 2875)184000(
amount received by each 17250
_ 1840 _ 1840 100 T11500°
2875 28.75° 100 -11500
0
_184000 0
2875
Hence, there were 64 cadets in all.
EXAMPLE 14. Mrs Bose bought 15.5 litres of refined oil for ¥ 1122.20. Find its cost per litre,
Solution Cost of 15.5 litres of refined oil =% 1122.20. 72.40
_ 155)11222.00(
Cost of 1 litre of refined oil = ¥ e o -1085
15.5 372
-310
_¢(1122.20 10 590
15.5 10 -620
: 00
5(11222 -00
= ? — —e
( 155 ) < 72.40. 0
Hence, the cost of refined oil is ¥ 72.40 per litre.
EXAMPLE15. The product of two decimals is 1.5008. If one of them is 0.56, find the other.
Solution Product of given decimals = 1.5008.

One decimal = 0.56.
The other decimal =1.5008 + 0.56

(1.5008 100)
= X —_—

0.56 100
150.08
= =2.68.
56

Hence, the other decimal is 2.68.

56)150.08(2.68
~112
— 380
-336
448
-448
0

—

) e
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PLE 16. )
Exil sides does the polygon have?
solution Let the number of sides of the polygon be n,
0
Length of each side of the polygon = 2.9 cm.
perimeter of the polygon = (2.9 xn) cm.
But, its perimeter =17.4 cm  (given).
174 = n= L 6
29xn=17. =59 99 O
Hence, the given polygon has 6 sides.
EXAMPLE17.  Find the average of 4.2, 7.4 and 8.8.
(4.2+7.4+8.8)
Solution Average of the given numbers = 3
20.4
=——=06.8.
3
Hence, the average of the given numbers is 6.8.
EXERCISE 3D
1. Divide:
(i) 131.6 by 10 (ii) 32.56 by 10
(iv) 0.34 by 10 (v) 0.08 by 10
2. Divide:
(i) 137.2 by 100 (ii) 23.4 by 100
(iv) 0.3 by 100 (v) 0.58 by 100

3. Divide:

(i) 1286.5 by 1000 (ii) 354.16 by 1000

(iv) 4.6 by 1000 (v) 0.8 by 1000
4. Divide:
(i) 12by 8 (ii) 63 by 15
(iv) 101 by 25 (v) 31 by 40
5. Divide:
(i) 43.2by 6 (ii) 60.48 by 12
(iv) 217.44 by 18 (v) 2.575 by 25
(vil) 0.765 by 9 (viii) 0.768 by 16
(x) 0.3322 by 11 (xi) 2.13 by 15
(xitf) 5.52 by 16 (xiv) 1.001 by 14
6. Divide:
(1) 16.46 + 20 (ii) 403.8+30
(iv) 156.8 + 200 (v) 12.8+500
7. Divide:
(1) 3.28 by 0.8 (ii) 0.288 by 0.9
(iv) 2.0484 by 0.18 (v) 0.228 by 0.38
(vii) 21.976 by 1.64 (viil) 11.04 by 1.6
(xﬁ;; 2;30;6 by 0.19 (xi) 148 by 0.074
y 0.56 (xiv) 204 by 0.17

49
\

Each side of a polygon is 2.9 cm in length and its perimeter is 17.4 cm. How m
' ‘ any

(1i) 4.38 by 10
(vi) 0.062 by 10

(iii) 4.7 by 100
(vi) 0.02 by 100

(1ii) 38.9 by 1000
(vi) 2 by 1000

(iii) 47 by 20
(vi) 11 by 16

(iii) 117.6 by 21
(vi) 6.08 by 8
(ix) 0.175 by 25
(xii) 6.54 by 12
(xv) 0.477 by 18

(iii) 19.2 + 80
(vi) 18.08 + 400

(i11) 25.395 by 1.5
(vi) 0.8085 by 0.35
(ix) 6.612 by 11.6
(xii) 16.578 by 5.4
(xv) 3 by 80
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10.

11.
12.

13.

14,
15.

16.

17.

I - =
The total cost of 24 chairs is T 9255.60. Find the cost of each chair.

1.8 m of cloth is required for a shirt. How many such shirts can be made from a piece of
cloth 45 m long?

A car covers a distance of 22.8 km in 2.4 litres of petrol. How much distance will it coye, in
1 litre of petrol?

A tin holds 16.5 litres of ofl. How many such tins will be required to hold 478.5 litres of of]?

The weight of 37 bags of sugar is 3644.5 kg If all the bags weigh equally, what is the Weight
of each bag?

If 69 buckets of equal capacity can be filled with 586.5 litres of water, what is the capacity of
cach bucket?

Monica cuts 46 m of cloth into pieces of 1.15 m each. How many pieces does she get?

Mr Soni bought some bags of cement, each weighing 49.8 kg If the total weight of all the
bags is 1792.8 kg. how many bags did he buy?

How many pieces of plywood, each 0.35 cm thick, are required to make a pile 1.89 m high?
Hint. 1.89 m =(1.89x100) cm = 189 cm.

The product of two decimals is 261.36. If one of them is 17.6, find the other.

———
—

EXERCISE 3E

OBJECTIVE QUESTIONS

Mark (/) against the correct answer in each of the following:

1.

What should be subtracted from .1 to get .03?

(a) .7

(b) .07

(c) .007

(d)

06="7°
(a) g (b) —5% (c) %(—) (d) none of these
1.04 =7
(a) 1l (b) 1-2- (c) 1L (d) none of these
5 5 25
2
2—=7?
25 - »
(a) 2.8 (b) 2.08 (c) 2.008 (d) none of these
6em =7
(a) 0.006 km " (b) 0.0006 km (c) 0.00006 km (d) none of these
. 70g="?
(a) 0.7 kg (b) 0.07 kg (c) 0.007 kg (d) none of these
. 5kgbg="7
(a) 5.0006 kg (b) 5.06 kg (c) 5.006 kg (d) 5.6 kg
2kmbm="7? ‘
(a) 2.5 km (b) 2.05 km (c) 2.005 km (d) 2.0005 km
(1.007-0.7)="?
(a) 1 (b) 0.37 (c) 0.307 (d) none of these

none of these
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what should be added to 3.07 to get 3.57
10.

(a) 57 (b) .34 (c) .43 (d) .02
03="7
0(213:;69 (b) 6.9 (c) 0.069 (d) none of these
30="
12. 0(2)2)(; (b) 0.6 (c¢) 0.06 (d) none of these
x0.8="7
o 0{3)5 0.02 (b) 0.2 (c) 0.002 (d) 2
0.4x04="7
% O(.:)XGA (b) .64 (c) .064 (d) none of these
1x.1%x.01="7
e l(a) 011 (b) .0011 (c) .11 (d) none of these
08+(16)="7
1e 2(3) 13 (b) .13 (c) 1.3 (d) none of these
17. 1.02+6="7
(a) 1.7 (b) 0.17 (c) 0.017 (d) none of these
18. 30.94+0.7= ?
(a) 44.2 (b) 4.42 (c) 442 (d) 0.442
19. 2.73+1.3=7
(a) 21 (b) 2.1 (c) 0.21 (d) none of these
20. 89.1+2.2=7
(a) 40.5 (b) 4.05 (c) 41 (d) 41.5
21. 0.5x0.05="7 ' :
(a) 0.25 (b) 2.5 (c) 0.025 (d) none of these
———

Things to Remember_

. The fractions in which the denominators are 10, 100, 1000, etc., are known as decimal fractions.

. Numbers written in decimal form are called decimals.
. Adecimal has two parts, namely, the whole-number part and the decimal part.
. The number of digits contained in the decimal part of a decimal is called the number of its
decimal places.
5. Decimals having the same number of decimal places are called like decimals, otherwise they are
known as unlike decimals.
6. We have 0.1=0.10=0.100, etc., 0.2 =0.20 =0.200, etc., and so on.
7. We may convert unlike decimals into like decimals by annexing the requisite number of zeros at the
end of the decimal part,
8. Comparing Decimals:
Step 1. Convert the given decimals into like decimals.
Step 2. First compare the whole-number parts. The decimal having larger whole-number part 1s
larger than the other.
Step 3. If the whole-number parts are equal, compare the tenths digits. The decimal having bigger
digit in the tenths place is the larger one.
If the tenths digits are equal, compare the hundredths digits, and so on.
9. Addition of Decimals:
Step 1. Convert the given decimals into like decimals.
Step 2. Write the addends one under the other so that the decimal points of all the addends are in
the same column.

oW N -

Scanned with CamScanner



T o1 TP A Lot IRt A T e
Ter S P Seh Er w  k ey Ve A e e T

. Mathematics for Class 7 S

\
decimal points in the addends.

Step 3. Add as in case of whole numbers.
the
1 Step 4. In the sum, put the decimal point directly under
0. Subtraction of Deci
mals:
f like decimals.

Step 1. Convert the Is into
glven decimals tha
Step 2. Write the smaller number under the larger one SO

nder the decimal points of the glvep

¢ their decimal points are in the Same

column. b
Step 3. Sub whole numbers.
tract as in the case of directly U

Step 4. In the difference, put the decimal point

number.
11. Multiplication of D tc.
ecimals by 10, 100, 1000, etc d to the right by one pj
Rules: (1) On muitiplying a &Jeclmal by 10, the decimal potn! tlstsstl;{&eted to the right by tw(? palccze'
(i1) On multiplying a decimal by 100, the dectmal poln Ces,

and so on.

12. Muitiplication of a Decimal by a Whole Number
Step 1. Multiply the decimal without the decima
Step 2. Mark the decimal point in the product to have as ma

given decimal.

13. Multiplication of a Decimal by a Decimal:

Step 1. Multiply the two decimals without the decimal point j

Step 2. Mark the decimal point in the product in such a way
the product is equal to the sum of the decimal places in the giv
14, Dividing a Decimal by 10, 100, 1000, etc. :
Rules: (i) On dividing a decimal by 10, the decimal point is shifted to the left by one place.
(ii) On dividing a decimal by 100, the decimal point is shifted to the left by two DPlaces,

en whole number.
ces of decimal as there are i, the

1 point by the giv
ny pla

ust like whole numbers.
that the number of decimal placeg in
en decimals.

and so on.

15. Dividing a Decimal by a Whole Number:
Step 1. Perform the division by considering the dividend a whole number.
Step 2. When the division of whole-number part of the dividend is complete, put the decimal pojnt

the quotient and proceed with the division as in case of whole numbers.

16. Dividing a Decimal by a Decimal:
Step 1. Convert the divisor into a whole number by multiplying the dividend and the divisor by q

suitable power of 10.
Step 2. Divide the new dividend by the whole number obtained above.
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TEST PAPER-3
y. Ifthe cost of a pen is T 32.50. find the cost of 24 such pens,.
2 2' A bus can cover 64.5 km in an hour. How much distance can it cover 1 18 h
! S ” ourg?
3 Find the product 0.68 x 6.5 x0.04.
‘. fach bag of cement weighs 48.5 kg. How many such bags will welgh 2231 kg
5. Divide:

(1) 0.196 by 1.4 (1) 39.168 by 1.2 (111) 0.228 by 0.38
uct of two decimals is 1.824. If one of them is 0.64, find the other.

6. The prod
How many picces of plywood, each 0.45 cm thick, are required to make a pile 2.43 m

high?
Each side of a polygon is 3.8 cm in length and its perimeter Is 22.8 em. How many sides

does the polygon have?

~1

Mark (v) against the correct answer in each of the following:

B.
9. 2 LI
25 ;
(a) 2.4 (b) 2.04 (c) 2.004 (d) none of these
10. 1.008 =?
2 1 2
(a) 153- (b) 165— (c) 1@ (d) none of these
11. 2kgbg="
(a) 2.5 kg (b) 2.05 kg (c) 2.005 kg (d) none of these
12. 012+15="7
(a) 0.8 (b) 0.08 (c) 0.008 (d) none of these
18. 11x.Ix.01=?
(a) .11 (b) .011 (c) .0011 (d) none of these
14. 4669+23="7 ‘ :
(a) 2.3 (b) 2.03 v (c) 2.003 (d) none of these
15. What should be added to 2.06 to get 3.1?
(a) 1.4 (b) 1.24 (c) 1.04 (d) none of these
16. What should be subtracted from .1 to get .04?
(a) 0.6 (b) 0.06 (c) 0.006 (d) none of these
C. 17. Fill in the blanks.
(i) 1.001+14 =...... (if) 204 +017 = ......
(iif) 047x5.3 =...... (iv) 0.023x0.03 =......
V) 0.7)% =...... (vi) (0.05)° =......
D. 18. Write ‘T Jor true and ‘F’ for false for each of the following:
(i) 0.5 x0.05 =0.25 (i) 0.25 x0.8=0.2
(ii) 0.35 +0.7 =0.5 (lv) 4x.4x.4 =0.64

(v) 6cm =0.06 m
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